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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-2

BYE) | GEBERTIC (7)) | EBE (BEAH/#) | XS R

01:00 95 60.0 = B3i%@01:00 (FKRHEERHZE)
02:00 95 60.0 5 B1%@02:00 (KRFERSE)
03:00 95 60.0 & FHA@03:00 (KRAfERZ)
07:00 95 60.0 & FHR@07:00 (RFERLEE)
09:15 95 60.0 5 FiEH@09: 15 (KRF1EEES)
10:35 95 60. 0 5 Fn#e10:35 (KREERES)
11:45 95 60. 0 & FiHAe11:45 (RAERB)
12:55 95 60.0 & FilRe12:55 (RAAERHE)
14:10 95 60. 0 i FnHfe14:10 (REERES)
15:40 95 60.0 5 FiHf@15:40 (RFE1ERES)
21t]950.0 (100%) 600. 0 32 3KEC: 1900.0, PH: 6.1

unusual large postFgEt from yesterday (247), set to 180.0 ml.
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P3-2

BfiE) | GEBIETK (D) | EE (EH/R) | XK R

06:45 180 50.0 5 B1%006:45 (KRFERSE)
07:45 180 50.0 5 B1%007:45 (KRFERSE)
09:10 180 50.0 & B318@09:10 (KRFEREE)
10:35 180 50.0 5 B1%@10:35 (RFERKSE)
11:50 180 50.0 = BRi%e11:50 (RAEHERSE)
13:00 180 50.0 & BRi%@13:00 (K FAEREE)
14:05 180 50. 0 5 Bi1&@14:05 (KRFEREE)
15:20 180 50.0 = BRi%e15:20 (RFEREE)
2it] 1440.0 (8%) 400. 0 3203 KEC: 1900.0, PH: 5.8

EOREBRTKC (180. 0) 57 #A (78. 0) RN Ff, FIREH T % MEEZ S E XER

ZRIASLPRIERE115.0 ml.
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